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All work must be shown to receive credit.  Use dimensional analysis for calculations.

1. (2 points) How is a liquid distinguished from a solid at the molecular level?
2. (8 points) A solution is made by dissolving 95.4 grams of potassium carbonate, K2CO3, in 577 grams of water.  

a. Calculate the mass percent of potassium carbonate in the solution.

b. If the total volume of the solution is 600.0 mL, calculate the molarity of the solution

3. (4 points) You need to prepare 500.0 mL of a 0.5922 M solution of potassium acetate from a stock solution with a concentration of 2.540 M.  How much of the stock solution will you need?
4. (4 points) Given that 75.0 mL of a 0.3855 M MgBr2 reacts with excess silver nitrate according to the reaction below, how many grams of silver bromide will form?
MgBr2 + 2AgNO3  (  2 AgBr  + Mg(NO3)2
5. (2 points) Give the Bronsted-Lowry definition of an acid and a base.
